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Passage 1
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Madame Curie, the great woman scientist, 1 an important part in the devel-
opment of modern physics. Her discovery of radium _ 2 _the treasure-house of atom-

icPenergy. In 1903 Madame Curic and her husband Pierre Curie _ 3 the Nobel
Prize for physics with Henri Becquerel. 4 Pierre Curie’s death in 1906, Madame
Curie became the first woman professor at the Sorhonne { EBK2%E). In 1911 she
was aworded” 5 Nobel Prize, this time for chemisiry, for her discovery of radium
and polonium® . Later she worked 6 the applination® of radioactivity to medicine.

Madame Curie 7 a continuous battle throughout her life. She was bom _ 8
_ateacher's family. _ 9 was a teacher of physics, her mother the headmaster of a
primary school. Her interest in science was _ 10 by her father. _ 11 _her early
childhood she loved to study and hoped to _ 12 a scientist. After her graduation
13 middle school at the age of sixteen, she couldn't 14 with her studies because
Poland was then 15 _the dark nie of old Tsarist Russia and women were not __16
__toenter college. 17 abmad to continue her study, she had to make money by
giving private™ lessons at night. In 1891, at the age of twenty-four, she 18
Paris and entered Paris University. She lived a very _ 19 _life and studied very hard.
She 20 keep on working under the faint light of an oil lamp until the early hours of
the moming. She gradusted 21 _the highest grades in her class. Afier graduation
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she 22 her scientific research work in Paris University. In 1895, she 23

Pierre Curie, a French physicist. Pieme 24 Mane in her research, for an un-
known phencmenon®~radiation. For several difficult years 25 worked hard trying
to find the element™ that produced the radiation. Finally they succeeded in 1902.
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Many of us have read stories or seen films about space-creatures. They come o
Farth in spaceships that look like flying saucers" . These space-creatures do not look
like human beings at all, but they are usually very intelligent™ . In one film, they
were tiny litle men with large heads. When they landed on Earth, they knew exactly
what 1o do. They went straight 1o the President's palace and made him their prisoner!

'The stories aboul space-creatures are, of course, not true. Space-creatures exist
only in story-books and in films, just like giants and fairies.

But many scientists are asking this question. Is there hfe on other planets? There
are millions of planets in the Universe, and Earth is just one of them. Human beings
have lived un Earth for thousands of years. Could there be tiving things on other plan-
els too? Many people believe that the other planets in the Lniverse are not suitable for
tiving things. They are either too hot or too cold. Some of them have poisonous pases
on them that will kill any living thing,

Are scientists sure that there is no life on oiher planets?

At this smgw"f;j we still cannot be sure. All the planets, except the Moon and
Mars, are so far away that it will take hundreds of years for our spaceships to reach
them!

I. The best title for this passage is
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A. Scientific Wonders: Space-creatures B. ls There Life on Other Planets?
C. Are Scientists Sure? D. Stories about Space-creatures

[

. 1t is impossible for scientists to know abowt other planets in the Universe be-
cause .
A. all the planets, except the Moon, are so far away that it will take hun-
dreds of years for our spaceships to reach them
B. all the planets are too far to reach
C. all the planets, except the Moon and Mars, are so far away that it will
take hundreds of years for our spaceships to reach them
D. all the planets are only too far to reach
3. Which of the following statements is not true according to the passage?
A. 'The stories about space-creatures are true,
B. Space-creatures are in stories.
C. Space-creatures are in films.
D. Many scientists are asking if there is life on other planets.
4. Which of the following statements is true according to the passage?
A, All the planets are either too hot or o cold.
B. Space-creatures are only in story-books and in films.
C. Peaple love giants because they are true.
D. Children love faines because they are true.
5. In the passage “straight” means _

A. upright B. level C. directly D. honest
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Marie and her elder sister, Bronya, dreamed of studying in France. But their
father did not have enough money to send them there. Then Marie thought of a plan:
she would teach at home and send her money lo Bronya. After her sister finished
studying in Paris, she could get work and send Marie the money to study there.

With tears in their eyes the girls said goodbye to each other, and Manie warked
very hard for six years to pay for her sister's studies. At last it was Marie’s wn®,
but by the time she got 1o France, her sister was married and could not give her much
help.

Again Marie worked. She studied in a small room without heal o light. She
lived on bread and tea most of the time, bul all she ever thought of was her science.

This was her world, and she liked her experiments most.

In Paris she met and married Pieme Curie, a young and famous scientist. To-
gether they made their experiments in an old house without heat. They knew that some
elements in the world gave off a strange power. The power could go through other ob-
jects. They found more of this power in some elements than in any other elements. It
made them believe that it must be a new element itself.

For four years they tried experiments to separate this powerful new elements.
Then they found something which they called radium. ¥s power was very much greater
than the power of other elements.

1. Marie and her sister wished to

A. study in France B. work at home

C. visit Paris D. travel around the world
2. Pick out the right order for Marie’s plan.

a. Bronya worked and eamed money

b. And Mane studied in France

c. Marie worked and eamed money
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d. And Bronya studied in France
A.a, bye,d Boe,d,a, b Coeob,a,d Doa,d, e, b
3. What made Marie forget her hard life in Paris?
A. Pieme’s love. ‘ B. Her scientific research.
C. Six years’ hard work. D. Her sister's help.
4. Marie and Pierre found radium because it

A. has a lot of uses

B. is a strange element
C. sends out more and greater power than other elements
D. has never existed in the world before
5. Which of the questions is not answered by the information from the passage?
A. Why couldn’t the two sisters study in France together.
B. How long did the elder sister study in France?
. What led the Curies to believe that there was a new element in the world?
D. What colour is radium?
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Microwaves and Television
Microwaves™ that transmit™ television signals always travel in straight line. Be-
cause the earth is round, it is impossible to send live television over a long distance.
For example, if we tried to send television signals directly from Europe te America,
the microwaves carrying the signals would shool into space over the Atlantie and would

never reach America.
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If we want to send television signals around
the surface of the earth, we must send them from
paint to point by the relay system. On land we
can sel up relay stations for this purpose, and
we can pass signals from station to station in a se-
ries of straight lines. However, we can not do
this so easily over water. In order 1o send pic-

tures direcily across the Adantic, for example,

we would need to build a chain of relay stations across the ecean, which is about 3,
00) miles wide. One choice would be to build one great tower in the middle of the o-
cean. But the tower would have to be 500 miles high!

Both of these ideas are impossible. So we use the communication® satellite thou-
sands of miles in outer space to relay the television signals across the Atlantic. A
satellite receives the picture signals in a straight line from the ground station on one
side of the Allantic, from England, for example. Then it sends signals down again,
also in a straight line, to the ground station on the other side of the Atlantic in the U-
nited States. The communication satellite must be within view of both ground stations
at the same time.

1.

What are microwaves?

A. They are light waves. B. They are sound waves.
C. They are radiation.

D. They are very short waves used in TV and radar® .

. Why should people build relay stations?

A. Because the microwaves can’t travel a long distance.

B. Becase the microwaves are not strong enough to reach ancther place.
C. Because the microwaves travel in a straight line and the earth is round.
D. Because people want to see the TV programme clearly.

. M the TV station is at point T, which point do you think is the best place to

build a relay station and what's the best height of it?



@RE&DWGVANGUARD PARTY 53890 ) 3

Unit 1 L]

i

4, According to the passage, if we want to receive the TV programme all over

the world freely, how many satellites shall we have at least?

A. Tow. B. Three. C. Four. D. Five.
5. What's the main reason for us to use satellites to relay TV programme?

A. Satellites can cover large areas.

B. Satellites are cheaper.

C. We can't build relay stations in the ocean.

D. Using the satellites, we can receive more programmes.
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Gravity
Even if you are a good high-jumper, you can jump only about seven feet off the
gound. You cannot jump any higher because the earth palls you hard. The pull of
the earth is called gravity.
You can easily find out the pull of the earth.
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¥ you weigh yourself, you will know how much gravity is pulling you.

Since there s gravity, water runs dowohill. When you throw a ball into the air,
it falls back down. Because of gravity you do not fall off the earth as it tums around.

Then, can we get away from the earth and go far out into space? Now you can
doit, because spaceships have been invented, The spaceship will go so fast that it
can escape the earth’s gravity and carry you into space.

1. In this passage, the word “gravity” means _ .

@ among obiects

A. the force of attraction
B. the pull of everything
C. the force which atiracts objects towards the centre of the earth
D. the force which attracts the earth towards the sun
2. When you slip on something, you
A. always fall down to the ground
B. sometimes fall down to the other side
C. go up into the air
D. always get wounded
3. Gravity is so strong that .
A. it can keep heavy things on the ground
B. it makes you jump only seven feet
C. it always makes you fall down on the road
D. it can keep everything on the earth
4, because gravity pulls it.
A. Water flows everywhere
B. Water flows downwards on the esrth’s surface
C. We can go everywhere by ship
D. Fish can live in water
5. We can get away from the easth by spaceship becanse .
A. the spaceship goes very fasi
B. the earth cannot pull the spaceship
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C. the spaceship has a strange force
D. the spaceship can jump higher than any other things

AT §E
(Dattraction n. B3

A new era@ is upon us. Call it what you will: the service economy, the infor-
mation age, the knowledge society. It all translates to a basic change in the way we
work. Already we are there now. The percentage of people who cam their living by
making things has fallen fortunately in the Western World. Today the majority of jobs
in America, Europe and Japan (iwo thirds or more in many of these countries) are in
the service industry, and the number is on the rise. More women are in the workforce
than ever before. There are more part-time jobs. More people are self-employed. But
the wideness of the economic change can't be measured by numbers alone, because it
also is giving rise to a radical® new way of thinking aboul the natre of work iself.
Long-held views about jobs and careers, the skills to succeed, even the relation be-
tween individuals and employers—all these are being challenged.

We have only to look behind us 1o gel some sense of what may lie ahead. No one
looking ahead 20 years possibly could have foreseen the ways in which a single inven-
tion, the chip™, would change our world thanks to its use in personal computers.
digital bwtec-‘uwlagy@‘ antificial™ intelligence or even some still unimagined technol-
ogy could produce a similar wave of unexpected changes. Bul one thing is certain: in-
formation and knowledge will become even more important, and the people who have
it, whether they work in rrwu,y"ad!mng@ or services, will have the advantage and
produce the wealth. Computer knowledge will become as basic a requirement as the a-
bility to read and write. ‘The ability to solve problems by using information instead of
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performing regular work will be valued above all else. If you look forward 10 years,
information services will be predominant (HE#). It will be the way you do your
job.

1. A characteristic of the information age is that .

A. the service industry is depending more and more on the female workforce
B. manufacturing industries are steadily increasing
C. people find it harder and harder to eam a living by working in factories
D. most of the job opportunities can now be found in the service industry
2. One of the great changes brought about by the knowledge society is that
A. the difference between the individual and the emplayer has become less
B. people’s traditiona) ideas about work o longer hold true
C. most penple have 1o take part-time jobs
D. poopie have to change their jobs from time to time
3. By referring to computers and other inventions, the author means that

A. people should be able to respond quickly to the advancement of technolo-
&

B. future achievements in technology will bring about. unbelievable changes

C. the importance of high techrology has heen overlooked

D. computer science will play a leading role in the future information service
4. The future will probably belong to those who .

A. possess? and know how to make use of information

B. gve full play to their brain potential (HFHE)

C. involve themselves in service industry

D. look forward instead of looking back
5. Which of the following can he the best title of the passage?

A. Computers and Knowledge Society



P1g_ l READING vANGUARD 21> 0 % * ﬁu&:ﬁ iﬁi

B. Service Industry in the Modem Society

C. Characteristics of the New Frz

D. Fast Development of Information Technology
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